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A=) (L 110N

(&% ]aiTHA: 177, #H3:300 [F&E#]):ATHA:57, % H1109
ez FiRA SPAE | AR [mean| ERER([ED)| | et R4 SR | AR mman] ZRER ([E)
1|X & BT 3L [ A7/ 21 1] 25 236| | 1 [X & BT L[ AT /D EARR 1 1] 25 166.2
2ERBEBTILE H /D ER I 7 204 |2 | EREBHIEE /MNERK 1 1] 10 136.2
J[EODFEE LB E /D ER T 1| 25 171] | 3 [BEEENIATHIL 1§ 1L/ 24| 5 128.0
4 B W iLF & /DER 4| 31 168| |4 |2 EBTI fHZE/NER| 1 6 1218
S|IERBWMIEImMm /M F & 1 2| 17 165 | 5 (% FHT 3L % B /b 2R 1 1119 118.2
6 [FfHmEMILHW /D ER 1 1] 10 160 [6 |+ & M 0 2z B FEHE 1 1 114.0
788 ;L BT AR /DER O 1] 7 153 | 7|8 W W ILFENMDMER 1 11 6 108.3
8 [MsDFEWIL 7 /b ERK 1 L] 20 152 | 8 (K W5 BT 32 b i /2 A 1 9 106.0
o |#t & W 3L B ORF PR 1113 149| | 9 |vexsaABmr BAREF/NFERl 1 2| 20 99.0
9 (XK 1B BT MK IF/MNFERK I 1] 24 149 | 9 | 7K ™ 3L FAKRFR/DER| 1 1| 34 99.0
9 |12 BB MZBE/INFER| 1 6 149

EB[—#ETGO!] BE[EMUEI EarEay]

(B E#FER -0, %5 1 (FRE#]FTHEA: 16, &H7:23
[ R A A | A [mean| FRER (FD) | [iEt R4 FE | B [xein|FEER ()
1|0 /8 BT 3L K 8 /b 2= & 1 6 31.3| [ 1 (48 ¥ h 3L Al FF /D 28| 1 1] 18 25.0
2L F % B 2 E T LB E/DMER 1 | 34 23.0
3 2 (% & BT 3 FEINDPER 1 11 6 23.0
4 AERBWMI KRB NFER 1 22.6
5 5k & BT ML Ezm/hER 1 4 20.7
6 6 |& 5 B X HWIIRDER 1 1] 12 18.8
7 TIIROFEBRIEE /MR 1 1] 6 17.6
8 8EzxMILIE M/ FEH 1 6 17.0
9 IEREMILmMm A MEFERKR 1 1] 6 16.3
10 WEREWILH L /NMFER I 1] 6 15.3

EHI[2ATE2ED] fZR[nXLTtanan]

(FR&E40]RITHA: 23, 4 H#A:28 [FESR]ATHA: 37, $hHA: 47
ez R4 PAE | AR [meax|FRER (E]) | | et R4 | 4B [wean|5EER(E]D
1l &8/ s2ED /2R 1] 14 190 (1 [FAAMBILETF /MERKR 1 1] 8 225
1 EREWMIEA /DNFER 1 1 6 190 [2 | ERETIAR B /NMFER I 1] 26 15.0
3| K H LT /MER 1] 6 181 | 3 [EEENMAMHII A /D2 K 1 1] 6 13.0
4 (#L & T 3L Al AF /D F RO 1] 14 180( | 3 [EENMAMIL K 3l /M 2| 1 1] 7 13.0
5[ K M1 LBRE/DMERK I 1] 6 175/ |5 |ERBWMILP & /DMERKR 1 1] 6 12.8
6 | K O KINRKDMERK 1 1] 14 173 | 6 |#% & ™ 3 B RF /D =2 8| 1 1| 13 12.5
7|mEO>FEMIL Y E F 1 1| 8 170 | 7 | /K ™ 3L RIADNER] 1 1] 13 12.4
8|k B BT M Bzw/hER| 1 4 162 [ 8|8 W ™ L A B /2K 1 1| 5 12.2
ole B ™ ok R /MK O 6 155 | 9 |m 2 M ™ 32 B RF /N 28R M| 15 12.0
9|0 8 BT T K /MZE & 1 11 6 155 | 9 |BE AL 0 T 3L 5B 4 /M 2 AR 1] 13 120
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A=) (L 110N

(B & )BT 259, % H:362 (45 %0 ATHA: 123, $%H7:197

B FR4 P | |mean| RE(ED| |we FR4A SFE | [mman| FRER (E])
1 B ™ i# 4 /h%2 R 2 1] 14 342| | 1 |X ¥ BT 3L [ A1/ 2K 2 1118 203.5
2 (X % BT LR AT /DEFER 2 1] 18 3P| | 2|1 HETILIEFRINER 2 1] 5 182.0
B(EREBTILERDER 2 3| 29 33| |3|FE B M LB /INFERKR 2 1 169.0
A ERBTIXIERDER 2 2| 29 303[ | 4|4 1L BT XL B B /M ER| 1-2 4 165.5
51 & m (LA KR/DFEH 2 1] 28 21| | [E2ETIHFBE/DER 12 3 163.3
6 [EmEMILLIL/DER 2 1] 9 2609 | 5| REFETZEFRM /MNZERKR 2 2| 18 163.3
TERERSMIL B N/ FER 2 1| 16 255 | 7|K F0 #F LB B /NFERKR 12 4 160.0
8 (48 mMIBE/DMER 2 3| 23 249 | 8K 1 # ST KM /D ERK 12 9 159.5
IEREMILTAEE /D FER 2 1| 27 230| |9 [EEREBTIRE MFER 2 1] 11 154.0
10 B B2 1| N 7 32 mmsEasaEss| 2 1] 20 219| |10(®| = W L8 B /M E K 3| 26 152.0

BE[—#%ETGO!] BEHIEBUEIVEIrEay]

(ER&S]FTHI: 2, %H0:14 (&5 )RTHA: 34, % H:58

[ R4 A | fH |mean| FRER (FD) | [mbe R4 SE | [mean|FRER([E])
1+ B/ IBEEEZE 2 1] 2 139 |1 |BEABHEIILK B /MK 1-2 3 38.0
2 Kk W IEKRSEDER 12 4 154| | 2 |82 48 BT ;T BEM/MNFE R 1-2 [1]| 3 23.1
3 (X W BT L mmrzusamar 1-2 2 158/ [3 (B & ™ XX HA /MNFHK 1-2 4 22.2
418 R aLERmMER 12 4 171 |48 B m Lt @ /D2 1-2 8 215
4(hfEFHETILAE B /D FE R 1-2 2 | |4|EREMIEADMER 2 1] 8 215
6 |F0 ;8 BT 3L K /M ZF & 2 4 173| | 6 | B BT ;I @2zm/hER| 2 8 21.0
T|hEFEILH A /NDNER 1-2 2 185/ | 6 || £ ™ L FARB/NER 2 1] 18 21.0
8 [ K ™ O EHDHFER 12 5 209/ [8(A & T Lk F/MFEK 12 4 20.2
Ol K T LI E/MDERK 12 5 230| | 9 [X % BT I M BT/ ER 1] 18 19.9
10|50 & BT 3L F 3 /D ZE | 1-2 4 232 |9 |[EEREMI KB /NERK 1] 16 19.9

EHI[2ATE2ED] fZR[nXLTtanan]

(&3] RTHA: 54, %H7:76 [FESR]ATHA: 73, % H) 84

[ R4 A | fH [mean|FRER([E]) | [Eb R4 SE | || R (E]D
1|[fEZ BRI MzE/NER 2 1] 10 336 | 1|B & ™ LfEHE/NFER 1-2 7 26.2
2ERBEBTILIMmADMEFER 2 1] 8 287 | 2|& B 1 i@/ FER 2 1 24.0
3|50 & BT 3L kE 3 /2R 1-2 4 270 | 3 |X W BT L mwrzaseman 1-2 2 22.0
42 K W B RERDER 2 1] 4 237 |48 & ™ LXKk E/DMER 1-2 4 21.2
S5|EDFEHBEIEBBR/DMZERK 2 1] 14 235( | 5 |ma LM AL Bl FF /N F | 2 L] 19 20.9
6|%F & LED/NDFEK 2 1| 14 229 | 6 [t B ™ II MERELGEFSNER 3| 27 19.7
7|X W BT IR ET/ERR2 1] 18 23|17+ B IEREEHE 1| 2 19.0
8 [E K ™ LW/ FEK 1-2 6 20 (7F B W IHFERDER 2 2 19.0
S|IEASHEII Kk H /MF Kl 1-2 4 220( |9 |8 ® ™ LI R /N F | 1-2 8 18.0
WERESHILIE I /MEK 2 1] 24 214 |10 D EHT ML B & /M E R 2 1] 31 17.3
W|FEFHIE R /DMERKR 1-2 4 173




[AAT7YTV FyLo oI LFEIFERBSO XUV [EIFE]

BEHOATTFVYLLY])

2025/3/73R7E

ERIRBET <]

[FR&#)aIEA: 5, %RHEA:7 [ &%k YA 239, #%81:349
R4 A | #H [mean|FEER () R4 S | 4B [mean|FEER ()
1R & BT L BiFE/NMER 3 1| 10 1.0 [ 1|X W Br L@ a1/ 248 3 1] 23 387
28 >FEFETLEBEH/DMEFER 3 1113 90| |2 | EMIL W L /NFER 3 1[ 14 364
3(hFEFETILEM /DMFER 3 1] 18 85| |3 | B M ALE N /MFER 3 1] 29 328
4 (8L B T L e WL /DEFER 3 Ly 19 10| [4|BRETILA L/NMNEFERK 3 4| 28 327
S5O FBEMIELZT /DMDER 3 1] 10 60| |5[ R ™M iILEE /MFHK 3 1] 35 287
6% B T ixLE I ER 3 2| 31 50| | 6 |&F & &L EhENER| 8 1] 25 279
17 B T LSRN ER 3 1] 14 32| | 7 [BEENRNTIL enrassgars| 3 1] 21 278
8(hEFHIZEFEMR/DMDER 3 2| 17 29| |8 D FHETIME/DER 3 1] 15 274
9|51 & BT 3 FTEIN/NERK 3 10 22| |8 || E ™M L FAKRBIMER| 3 119 274
WEO>EHIEE/DMNZERKR 3 1] 1 22| |[10O|BIRETIRE/NER 3 1] 34 270
BRILYyYEERU] EE[—#wETGO ! ]
[ER& 0 ]RiTHA: 62, £HA:80 (FR&3h )RR 4, &85
R4 A | #H [mean|FEER () R4 S| 4B [meam|FEER (FD)
TR # & L KM /DhZEE 3 1] 3 171.6 BE M BT L H /M F R 23 3 13.0
2mAMTILE B/DFER 3 1] 17 1690 | 2 |&E B ™ 3L ¥ &/ F | 1-2:3 3 15.0
3[EENATIL S K /M F KR 3 1] 15 1644 | 3 | /K ™ 3 KNIADMER| 3 1] 8 19.5
sl e W aoED 2R3 1| 23 164.4| | 4 |2 K ™ I T B/NER| 1-2-3 5 20.6
5|X i BT L[ AT/ ER 3 1] 23 1640 |5 |[Ez BBTL L /N % & 223 | 1| 3 222
6[EzSHEZIL /M 2 & 3 1] 2 1635 6 [+ & # /M= B FHE| 2-3 2 23.0
718 & W i FERNFER 3 4 | 31 1583 | 7|%& B ™ AL ERB/MFEK 3 1] 2 23.9
BIEDFHIAERT MNER| 3 1] 10 154.9 1 S S =
9|8 & W iLEHE/MNMFERK 3 W 37 152.7
WOEHREHILE L /DMEER 3 1] 30 152.3
EEIEBUEIaVYEavEay] EH[2ATEoED]
(B4 ]RITHA: 12, 2R 27 (FREHIFTHEA: 21, &H7.28
R A S | fH |=ean|FEER (M) FR% SE | fH [mean|FRER (@)
1TEREMIKLR/DERKR 3 1] 26 260 (1 [EREWIFEIN/DNER 3 1| 22 25.3
2 (K 5 BT LKA /DERKR 3 1| 10 210/ (2[R & BT LB FB/IMFER| 3 1] 10 240
3 |FEEE I AT AL ESsrEssgEes 3 1] 22 200 |3 |fEz &S BT L /M 2 & 3 11 2 22.0
3 (3P W HET AL PIARB/NER| 3 1] 8 200( | 4 |[BEEENIATHI I A /DN 2| 3 2| 24 21.3
54 & o (LB 2R3 1] 10 194| | 5 |EENANTILI S F/MN2H 3 1] 16 20.6
6|k B BT LB B /ME R 3 1] 34 184/ [6 [ D EFB MLEE/NMNER 3 11 10 20.5
T[E>FEBIZIMAIERE/DMERKR 3 1] 16 183 | 7|X #& BT L fE AT /b F | 3 1] 24 20.4
S|IEDODFEHALEE /MNERK 3 1] 10 182 [8[F £ ™ L H /M EK 3 1110 20.3
9 B W ARRER/NMNEK 3 1] 18 181 [9|X 5 BT L KL /=24 3 1] 10 19.8
WERSHIEA/DMNFER 3 1| 10 17.3| |10\ /K T 3L RIIWN/NMER| 3 1] 8 19.2




[AAT7YTV FyLo oI LFEIFERBSO XUV [EIFE]

2025/3/71H7E
ZEHI[nIELTana[)

(&30 ])aiHA: 29, %8148
Bz EiR 4 P | 4B [mean| 5EER (D)
1E B ™ IFERDER 3 1] 1 27.0
21 DFMHIAESTS MNER| 3 1| 10 20.8
S(EREBTILERE DMER 3 1] 2 175
4 (X ¥ BT LR AT /DFER 3 1| 23 16.8
5|EfEFETI RN /MZERK 3 3 15.6
6[EREWMIIEL/NMNEK 3 3| 25 15.2
I+ e INMNEBEFEER 23 2 15.0
TmAMMBILE B/DER 3 1| 17 15.0
9| K W L RNA/NMER 3 1| 8 14.6
9 (%0 & ET 3 FFEIN/IER 3 9 146
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ERIRBET <]

[ER&4]RIHA: 8, &HA:20 [ &% )aiTHEA: 311, %50 416
[ R4 A | HH [mean| FRER([E]) | (@b R4 S | 4B [mean|FEER ()
1|82 BETIL1E & /N F 8| 34 15 128 |1 |EE B ™ s hE R 4 1] 11 463
2 (%% & v O3B R Ly 20 96| | 2 |X ¥ BT L FE AT/ FERK 4 1] 21 412
3 [EEE AT ameEsssaer| 4 2| 24 80| |3 |%L & ™ LB FF/MZE | 4 1| 24 344
4R B BT I Bz/IER| 34 15 66| | 4| EMISHENER 4 1] 24 336
SEREREMIM A /NMFERK 34 11 6.0 | 5 |f# Il BT i REM/NMER 4 1] 13 329
6 B T LSHMRDER 4 1] 13 56| | 6 |44 mOIEMDFER 34 13 322
7|8 #0 BT LN fE/FER4 1| 21 51| | 7T|/ERBHWILFENMFERK 4 1] 11 321
8lmAM M B MF K 34 16 49| |8 |EmMAEMIL L L/ E R 4 1] 8 315
8 [ L BT i XKHEA/NIMFHl 4 1] 13 49| |9 |&E £ ™ M ET H /D F K 34 13 314
W0ERETIRILUNER 4 3| 35 45| ([10|ERBWHIIm /M F & 4 1| 24 312

#mEILYyYEEBU] #B[—#WETGO ! ]

(&% )ATHA: 121, 183175 (R EHIAHEA:8, %127
[ R A A | A [mean| FRER (D) | (et R4 SE | 4B [mean|5RER (FD)
1T|fEz&Rmi k& /DFEE 34 5 2362 | 1 |FEFE FETIL 16 & /N 2 42| 3-4 6 10.3
2 (X W BT dLmmrzusaman| 3-4 3 2045| | 2 |3X ¥ BT 3L ®enessamss| 3-4 3 11.2
(XK A M LKW/ FER 34 6 1847 3 [+ & # L BEH B X E| 3-4 2 11.9
s+ ENIERE R 3-4 2 183.0| | 4 [FAEDFEMIL % W /D F &| 3-4 6 143
5|R B ML FARNMNER 4 1] 10 1829 | 5|8/ £ ™ AL F B\ /M FE K| 34 13 14.8
6 DFEHEILIEE/NFER 4 1| 12 1816 | 6 | & FHET 3L & M /M 2 1| 3-4 5 15.2
TEEB W ISR/DNER 1 1800( | 7|%& B ™ I BEEB/NER| 3-4 4 16.0
8 (& W W iL KEBI/IMER 3-4 7 177.1) | 8 |20 % BT 3 Lk 3 /D 2 &| 3-4 8 16.4
9[FE B ™ IL# g/ FE K 34 5 175.0| | 9 [FE 40 BT 3L BE 48 /D 2 | 3-4 7 16.7
10| £ ™ Lt/ ZF K 34 3 1740| ([10([EEREHTILE B /D FE K| 4 6 16.9

EEIEBUEIaVYEavEay] EH[2ATEoED]

(B4 ]RITHA: 51, $hHA: 67 [FRE#]ATHEA:68, %5183
[ R A A | A [mean|FEER (E]) | (&t R4 SE | fH [mean|FRER (@)
1\EREWMI EEENMNER| 4 2| 24 250| |1 | FEFHE S M /DER 4 1| 30 31.8
1|#E & ™M IIAFEDNFER 34 2 250| | 2 [X 3 BT 3L F@ &T/D F & 4 1] 20 29.9
3 (BN WL mprEsngEes| 4 2| 24 248| (3| K H L F R /DER 4 2 28.0
A+ BN ILEREFEH 34 2 245| |4z L /D FER 34 6 27.3
5(X ¥ BT 3 fE AT/ FER 4 1] 20 236| [ 5(F0 ;B BT L KW /D E K| 34 | 1| 1 26.6
6 [ I BT St m # /D F 8| 4 1| 24 233 | 6 [f* AU BT 3L mm f8 /b F K| 4 1] 24 26.5
7/ & W XA A /NDER 34 8 232| [ 6| K T ILEE/DFER 34 14 26.5
8 [EENMNMI FIER/PNER| 3-4 12 230| | 8 [FAxDFEMIL I 4B /M 2 &K 1] 18 255
9|38 78 T Mith B/ FE K| 34 8 225 | 8 [ D EHETILTE BE /M R 1] 8 255
IEREMIm A /MERK 34 10 225| [10[BEEINATMIL A F /2K 1| 23 24.9




[AAT7YTV FyLo oI LFEIFERBSO XUV [FEA4FE]

2025/3/TRE
ZEHI[nIELTana[)

[E&E30]AITHA: 80, #H#A:90
[ R4 A | #H [mean|FEER ()
1 (X 3 BT i3I mssseskseamai| 3-4 3 340
2+ BN IEREZEl 34 2 27.0
2@AAMTILFEFRF /MDER 4 1] 13 27.0
4 |fF & H L HFDFER O34 2 24.0
5(F B & L& W /DEFERK 34 2 22.0
6 (hfEFHEIZE R /DNZFEK 34 4 21.3
7(chfEFHEIEE B /D FE R 34 8 20.7
8K f M L& B /MEFEK 34 4 205
9 [EASHETILK H /¥ K 34 2 19.6

WEBEHTIEDDNEKR 4 1] 15 19.0
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2025/3/73R%E
BEIOATFvYLUY] EEIERTA<]

[FRES]ATER: 9, 1287 21 (ER &30 RITHA - 292, %HA:379
[ R4 SPAE | AR [mean| ERER([ED)| | et R4 | AR [mman| ZRER ()
1 |[BEENATI FEE/NMNER| 5 1] 32 29| (1 [EEREHTILIR T /MNEFEK 5 2| 25 468
22 EBHIIE B /M E K 1~5 5 148/ |2 | B ™ A /ME | 5 1] 16 455
3 E M LARDMDER 5 1] 22 108 [S|ERSMiP M /NMNER b5 2| 22 442
4EE WM ILEBEBDDNEFER 5 1] 16 106 4| B ™ L EXmBA/NMNER| 5 2| 31 391
S5EREMII EER™IPER| 5 3| 34 105| |5 |BE RS Wi £ALE/NER| b5 1] 10 378
6 (kL W T LAl FF/DFER 5 1] 25 19| |6 |E B BT I EF B /IMNER 5 1] 11 377
7[R M8 BT LA E/NERKR 5 1] 16 68| | 7|X W B LB AT /NFE | 5 1] 23 375
8 [EENIMM K 5l /M| 5 1] 19 63| | 8|fF & T AL EM/NMNFER| 5 1] 15 364
91K B BT MEE/IMNFK 5 1 [ 37 58| |9 [EREMIBAEENER 5 3| 34 361
10028 &8 TN /D2 5 1] 14 56| |10|® B ™ i E/NFRE/NER| 5 2123 359

BRILYyYEERU] EE[—#wETGO ! ]

(&3] RTHA: 55, %1172 (R &EHIATER: 4, $RE:4
[ R4 SPAE | AR [mean| ERER (D) | et R4 P | AR [mmaw| FRER (FD)
1TEREBWMIRT /PMER 5 1|27 2420 | 1 |BE 48 BT I HH /N F K| 5 2 215
2 EREBETILIEM/DER 5 1| 1 181.0| | 2 [BEEEIIATHIL K Bl /N E %] 5 1119 28.3
3([EZSHETIL L /M ¥ B 5 1] 2 1765| | 3 |[fE 2 SBT3 F < /M 2 &/ 2-4-5 3 84.7
4 ERBETILEARBPER| 5 1] 10 173.6 1 S = |
S5mAMMmILEFEK/DMNER 5 1] 2 1715
6|EREBMIF B /DMNERK 5 1] 18 166.5
ThEFEHIEBR/MNER 5 5 166.2
BIEE M LEBEBIDIMNER 5 1] 16 165.0
I|[EZSHEILEE/MNER 5 163.1
101F L BT IE S /MFEHK 5 162.0

EEIEBUEIaVYEavEay] EH[2ATEoED]

(&30 ]ATHA: 30, #%47:32 [FRE#]ATHEA:32, &H1:33
[ R A A | A [mean|FEER (E]) | (&t R4 SE | e FEER (E]D)
11 B M IIEEFE/NEKR 5 1| 30 32.0| | 1 @L%%Fﬁﬁﬁﬁ/l\?& 5 11 9 37.2
2mAIMTILFEKDER 5 1| 2 280 (2| B T LBEL/NMNER 5 1| 16 284
3[R B ETSIE R /MER 5 1| 36 27.3 3@%%Fﬁ\ —B/NMEK 145 2 26.5
AMABRTILHT Z/DER 5 1] 16 268 (4B T LR R/NMNEK 5 1] 22 25.8
S5|hFETHIIRm R /DMNERK 5 1| 4 265 (S ([EEREMIL BN /NEER 5 1| 4 247
6|ERSMI— B /MNF K 145 2 250 (6K & BT LEE R /IMNE K| 5 1] 36 238
7|18 & W DRSS 1] 16 234 [ 7|#L W h itk Wl /MFEAR| 5 [Lv| 20 235
8 (B & W i FEEILNERl 5 1] 12 220( | 8| FEEFHEHIZE R /NMNERK| 5 6 23.1
I R T ALBE/NMNERK 5 2| 38 215| | 8 [f# il BT 3 XHEF/PMER| 5 1] 10 23.1
0K B B I BZT/MER| 5 8 205| (10l A MALE K/DFER 5 1] 2 23.0




[EKAT7YTV FyLo oI LFEIFERBSO XUV [ESFE]

2025/3/TRE
ZEHI[nIELTana[)

(FR&E50]AITHA: 34, #2H#A:40
Bz EiR 4 P | 4B [mean| 5EER (D)
T|IEAMMILFKRDNER 5 1| 2 30.5
2 B AEDDNER 5 1| 16 24.4
3 B M ILEENMNER 5 2| 38 19.2
4 (8% 5T BT 3 BRIR/NFER| 5 1] 1 18.0
5 B ™ i MEGESMER| 5 3 33 16.9
6lEAAMBIFTR /MNER 5 1| 8 16.8
A s vl [ A= - I 1| 25 16.0
8 |REEE I N T 3L BmrEaBaEen 5 2| 26 15.7
9 [ F W EIAMRENER| 245 3 15.3
WEAMTPIEFLE /MNERK 5 1] 18 14.5




(AR TvT ' FyLoTh

ZLEIFBTUX VI [FE6FE]

2025/3/TRE
BEOOATFvYLY]) EEIERTA<]

(FR&ES0]RITHA: 20, #4HA: 45 [ &40 ]AITHA: 363, #4H: 464
[ R4 A | HH [mean| FRER([E]) | (@b R4 S | 4B [mean|FEER ()
TIEOFEMIBEBHDMFER 6 1| 20 240( | 1|} ¥ BT LR AT /N2 4| 6 1] 27 496
2(FF 4+ BT LB E /D F K| 56 10 185/ | 2 | B ™ 3 XEEN/NMER| 6 1] 37 457
B(EREBTILE NN /MFERK 6 11 10 170 |3 (B B ™ LB /MEK| 6 1] 16 433
3|+ B M I zZEZEHE| 1~6 10 170| |4 B T I TR /NMNER| 6 1] 18 429
5| B B s MiFB/INER 56 11 163| 5| B ™ i L/IMNR/INER| 6 1| 36 422
6[EREMIMADMNER 6 1] 12 140 (6 (B & ™ LB A /DMEK 6 L[ 20 400
6|5 5 ™ Il R’/ ZF K 2~6 7 “Hol| |7 |EmEmIL® L /bdER 6 1|12 398
8 |BE M BT LK E/MNEK| 6 1] 11 138| |8 |ts B 7 M B /M| 6 3| 32 386
Otk W T LA AF/NER 6 1| 28 15| |9FESE M IALB S /MER 6 3| 41 385
10|4# b BT 3 KEM/NER 6 1 7 134| [10|#% W& ™ L Bl FF /D EH| 6 1] 28 384

#mEILYyYEEBU] #B[—#WETGO ! ]

(&% )ATHA: 122, 187175 (FRE#]FTHEA: 17, #&H1:30
[ R A A | A [mean| FRER (D) | (et R4 SE | 4B [mean|5RER (FD)
TR R & LR PDER 6 3 2180/ |1 |&E B ™ I HE MW /NMNER| 56 5 15.9
2[F B ZIAFEMNER 56 4 2155( | 2 |EENATL B iF /N F K| 546 7 17.1
3(hETFHETILME D FE K 56 5 2050| | 3 |BE M0 BT L A /I F K| 6 2 175
A BERETILIRE DMFEK 56 14 2011 | 4 |hFEFETIL M A /NFE | 5-6 5 178
5 |EENNMILF T /D ZF K| 56 4 1990 | 5|8 M M LB /NMNER 6 6 18.3
6|8 B M 3L & R /DNF K 56 6 1980 |5+ B M AN EEZHEH| 6 1] 2 183
T W BT BB /NDEK 56 4 197.2| | 7 (%0 B BT 3L K % /D 2 #&| 5+6 9 18.6
8 [EENANTL R E /2| 56 6 1952| | 8 [f# 1& ™ 3L &t ¥ /D F K| 56 8 18.8
9 [LWeEaAFmL T I /N 2 K| 56 3 195.0| | 9 [BEF NETIL & & /D F 4| 56 5 19.8
102 B M L8 IE/DNFE 56 5 188.6| |10(@ASDEMIL % W /D F 8| 56 6 20.3
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[ R4 A | fH [mean|FRER([E]) | [Eb R4 SE | 4B [mean|FRER(E]D
1\BASHEIIZK B /¥ K| 56 6 425 | 1 |&E B ™ i RENII/NER| 5-6 6 40.7
2RI ILA F/NFER 6 L] 16 363 | 2 [AF f+ BT 3L B E /M 2 £| 56 12 31.0
3K MM LS B /DFER 2~6 6 340 | 3[R 4& T LK/ FEE| 5-6 6 30.4
AhEFEHIZER/PDFER 6 1] 6 32| [4 |+ B # ILBmAZHSER 56 6 29.1
5|8 F MBI E & /D Z & 56 6 20| |4 |mAMT LB F/DFER 6 L] 16 29.1
6|X B BT I XHB/DFEK 6 1] 14 278 | 6 [ B BT L FE/INFHE| 56 11 29.0
7+ B & 3 BiHzHEEFE| 56 266 | 7T|FFEFEHILIER /MNER 6 1] 6 28.0
8 |X ¥ HT 3 BEAZ/NER| 6 2 260/ | 8 [#0 ;B BT 3L K ¥ /N F &| 56 10 27.8
9| B ™ XL KWBB/IMER| 6 2| 20 2654 |9|F B Hm ALBEBLNFER 6 1| 26 276
10(hEFHIIMHAE /D F I 56 6 236| |10|R & FHT L # B /N2 K| 56 10 26.7
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T E®WRIDFER 56 5 32.6

B
B LA R /DER 6 1] 28 29.0
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Btk OLEFNFEKR 56 28.0

Bl A 4B 3L K NIl /N =2 #%| 5-6 26.7

BEENATI K E /DN FE K 56 24.8

+ ENIEFTEXHE| 56 23.2
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hiE FHEILIE B /ME R 56 9 24.8
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hEFEIIER /DMDFER 6 21.8

Olo|IN|a|la|lb~|lOIN

ZF E M IEBDRNER 6 1] 25 21.2

W+ & IT/NhEEXE|] 6 2 21.0




